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& Section - A : General Knowledge : 25 Marks

1. The Supreme Court of India has laid down certain broad principles for the Prison Administration to
follow. Read the following statements and answer which of these is correct using the Codes given below.
1. A person in prison should not be treated as non-person.

2. A prisoner is entitled to all human rights within the limitations of imprisonment.
3. The sufferings of prisoner inherent in the process of incarceration should not be aggravated.
Codes:

(A)1 &2 (B) 2 only (C)2&3 (D) 1,2 &3

2. High fever, vomiting, diarrhoea, coughing, fatigue, muscle ache, abdominal pain, chest pain, eye infection,
bleeding nose and gums are initial symptoms of —

(A) Bird flu (B) Rabies (C) Dengue (D) None of these
3.Match the following pairs of Odia book and its author?

1. Sarala Das i) Bhagabat

2. Jagannath Das ii) Mahabharat

3. Kanhu Charan Mahanty  iii) Lachhama

4. Fakir Mohan Senapati iv) Ha Anna

5. Gopinath Mohanty v) Amrutara Santana

(A) 1-i; 2-ii; 3-v; 4-iii & 5-iv (B) 1-ii; 2-i; 3-iv; 4-iii & 5-v

(C) 1-iv; 2-iii; 3-1; 4-i1 & 5-v (D) 1-iv; 2-iii; 3-i; 4-v & 5-ii

4. Find out which of the following statements of Invention/Discovery, Scientist & Year is incorrect?

Si. No. Invention/Discovery Scientist Year
1. Revolver (Pistol) Samuel Colt, USA 1835
2. Swing Machine Elias Howe, USA 1846
3. Safety Razor Gillette, USA 1895
4. Television J.L. Baird, Britain 1926
5. Telescope Pascal, Italy 1609
(A) SI.No.2 (B) SI.No.3 (C) SI.No .4 (D) SL.No.5

5. Which of the following statements about the Cellular Jail in Port Blair is incorrect?
(A) It was built in the shape of 07 spokes of a wheel from 1896 to 1906.
(B) Initially it had 663 Cells and later 30 Cells were added.
(C) It housed the first batch of 200 freedom fighters transported under overall charge of Dr.JP Walker with
60 Naval brigade men and two native overseers.
(D) Tormented by living conditions in the jail, the prisoners sat on hunger strike for 45 days between
1927-28 till Mahatma Gandhi and RN Tagore intervened.

6. Find out the incorrect one out of the following pairs of sportsperson and the sports he/she is associated
with.
(A) Anuradha Biswal-Atletics (B) Jyoti Sunita Kullu- Hockey
(C) Valena Valentina-Chess (D) Sradhanjali Samantaray- Football

7. Which of the following statements about Veer Surendra Sai is incorrect?
(A) Veer Surendra Sai first declared his revolt against the British regime in 1827.
(B) Veer Surendra Sai was kept in Asirgarh jail till the end of his life.
(C) Veer Surendra Sai breathed his last on 28.02.1884 at the age of 75.
(D) None of these
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8.Read the following statements carefully and answer which of them is/are correct by using the codes given
below.
1. Odisha became a part of British Empire during the reign of Lord Wellesley.
2. Mukunda Dev-II was the king of Khordha when Odisha came under the British rule in 1803.
3. Dalhousie was the Governor-General of India when Sambalpur was annexed to the British Empire.
Codes:
(A) only 1 is correct (B) 1 & 2 are correct (C) 1,2 &3 are correct (D) none is correct

9. Which of the following statements about Indira Gandhi is false?
(A) She was the wife of Feroz Gandhi.
(B) She was the Prime Minister of India from 1966-77 and 1980-84.
(C) She joined Congress Party in 1938 and was imprisoned for 11 months in 1942
(D) She died a natural death on 31% October, 1984.

10. Match the following pairs of Award and its founder?

1. Kalinga Award i) Harekrushna Mahatab

2. Bisuba Samman ii) Biju Pattanaik

3. Atibadi Jagannath Das iii) Sambalpur University

4. Gangadhar National Award iv) Srujani

5. Guru Kelucharan Award v) Odia Sahitya Academy

(A) 1-ii; 2-1; 3-v; 4-iii & 5-iv (B) 1-ii; 2-i; 3-iv; 4-iii & 5-v
(C) 1-iv; 2-iii; 3-1; 4-ii & 5-v (D) 1-iv; 2-iii; 3-i; 4-v & 5-ii

11. Given below is a column of tribes/races and another column containing the places that they inhabit. Find
out the correct answer out of the four options given below showing the correct matching between them.
SL.No. Tribes SL.No. Places

I Garos a. Bihar
ii. Gonds b. Meghalaya
iii. Garasia c. Andaman & Nicobar
iv. Jawas d. Rajasthan
(A) i-a; ii-d; iii-c; & iv-b (B) i-d; ii-c; iii-a; & iv-b
(C) i-b; ii-a; iii-d & iv-c (D) i-d; ii-a; iii-c; & iv-b
12. Which of the following series of terms and the sports they are associated with is incorrect?
(A) Bishop, Checkmate, Gambit Stalemate -Chess;
(B) Bully, Corner, Dribble, Scoop, Sudden death, Tie-breaker ~ -Hockey/Football
(C) Knock-out, Punch, Upper cut -Weightlifting

(D) Ashes, Bye, Chinaman, Cover Point, Crease, Drive, Duck  -Cricket;

13. Which of the following pairs of disease and the affected part of human body is incorrect?

SI.No. Disease Part of human body
i. Pneumonia a. bones
il. Sinusitis b. lungs
iii. Typhoid c. intestine
iv. Trachoma d. eye
V. Tonsillitis e. glands
(A) Only i & ii are incorrect (B) Only i & iii are incorrect

(C) Only iii & iv are incorrect (D) Only ii & iv are incorrect



GKEOM-JW-17 / A / Page 5 of 16
- Section - A : General Knowledge : 25 Marks

14. Which of the following is not a correct statement on the Sun Temple at Konark?
(A) It took 12years to complete.
(B) 1200 artists were engaged to finish it.
(C) Rupees 40 crores was spent on its construction.
(D) Anangabhima Dev-1III built it in memory of his victory of Bengal.

15. Which of the following statements is/are true?
The human skeletal system consisting of 206 long, short and irregular bones help-
i. stiffen the body iii) provide levers for muscles to work
ii. protect the internal organs  iv) give shape to the body

(A) only i is correct (B) only i & ii are correct
(C) only i, ii & iii are correct (D) All are correct

16. Who were the 1 Governor Generals of Independent India and Pakistan?
(A) Mount Batten & Md. Alli Jinnah
(B) Chakravarty Rajagopalachari & Zulfiquar Alli Bhutto
(C) Jawaharlal Nehru & Khan Abdul Gaffr Khan

(D) None of these
17.Find out the incorrect one of the following pairs of Central Jails and their locations.
(A) Tihar Ashram- Delhi (B) Yerwada Central Jail- Bangalore
(C) Puzhal Central Prison- Tiruvallur (D) Naini Central Prison- Allahabad

18. Which of the following statements about the Census data of Odisha is incorrect as per Census-2011?
(A) Population of Odisha according to 2011 census is 4.19 crore.
(B) The density of population in Odisha per square kilometre is 270.
(C) Kandhamal district has the least density of population.
(D) The literacy rate is the highest in Balasore district.

19. Read the following statements carefully and choose which of them is/are correct by using the codes given
below.
1.The length of Odisha coast is about 480kms.
2. River Subarnarekha divides Odisha and west Bengal.
3. There were only six districts in Odisha when it became a separate state in 1936.
Codes:
(A) only 1 is correct (B) 1 & 3 are correct (C) 2 & 3 are correct (D) 1, 2 & 3 are correct

20. Which of the following countries are respectively the largest producers of Tea, Wheat and Wool?
(A) China, Bangladesh & UK (B) India, China & Australia
(C) India, Thailand & Russia (D) Bangladesh, Malaysia & USA

21. Given below is a column of towns/cities and another column containing the industries they are associated
with. Find out the correct answer out of the four options given below showing the correct matching
between them.

SLNo. Towns/cities SLNo. Industries
1. Visakapatnam a. diesel locomotive
2. Varanasi b. ship-building
3. Kolar c. gold field
4, Sindri d. cutlery
5. Aligarh e. fertilizer
(A) 1-a; 2-b; 3-c; 4-d & 5-¢ (B) 1-d; 2-c; 3-a; 4-b & 5-¢

(C) 1-c; 2-d; 3-b; 4-a & 5-¢ (D) 1-b; 2-a; 3-c; 4-e & 5-d
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22. After the severe famine of 1866 in Odisha, the British authority built —
(A) The Puri Canal (B) The Kendrapada Canal
(C) The Bhadrak Canal (D) The Taladanda Canal

23. The National Anthem, Jana, Gana, Mana, composed by Rabindranath Tagore was first sung at the Calcutta
session of Indian National Congress on-
(A) 27" October, 1916 (B) 26" January, 1938
(C) 27" November, 1928 (D) 27% December, 1911

24. Which of the following statements about the Prison System in India is incorrect?
(A) It comes under Item No.7 in the Union List in the 7% Schedule of the Indian Constitution.
(B) The Central Government provides guidelines and assistance to the states for maintenance of the Jails.
(C) Madhya Pradesh has 11 Central Jails, the highest number, in India.
(D) Borstal Schools are detention centres for minors and juveniles to administer care, rehabilitation and
reform for young offenders.

25. Adam’s Bridge, a 28-km long bridge of rocks and sand, connects between-
(A) Britain & Switzerland (B) India and Bangladesh
(C) Pakistan and India (D) India and Srilanka

Section - B : English Language : 25 Marks

26. Answer the first question before you further.
(A) proceeded (B) proceed (C) have proceeded (D) are proceeding

27. Neil Armstrong was first man to walk on moon. (Pick out the correct Articles to rectify the
sentence if required)

(A) the & a (B) an & the (C)a&an (D) none of these
28. Youth is the time the seeds of character are sown. (Pick out the correct Connector to
Sfill up the gap)
(A) where (B) in which (C) when (D) that
29. The rise and fall of the tide due to lunar eclipse.
(A) were (B) was (C) are (D) is

30. Nature teaches the beasts to know their friends. (Change the sentence into Passive Voice)
(A) The beasts are taught by nature to know their friends.
(B) The beasts are taught to know their friends.
(C) The beasts were taught by nature to know their friends.
(D) The beasts taught to know their friends by nature.

31.No other story-book is so popular as The Arabian Nights. (Change the degree of comparison
without changing its meaning)
(A) The Arabian Nights is the most popular of all story books.
(B) The Arabian Nights are more popular than some other story books.
(C) The Arabian Nights is one of the most popular story books.
(D) The Arabian Nights are more popular story books.
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32. Read the following sentence and pick out the underlined part which is neither a Noun nor a
Pronoun.
A small leak may sink a great ship and all the men on board.

(A) B) ©) D)
33. Find out the one of the following series of Vocabularies which does not match with the others.
(A) sweet, sour, salty, bitter (B) fat, tall, dwarf, short
(C) green, red, yellow, violet (D) grain, rain, pain, chain
34. His health has improved since he India.
(A) left (B) has left (C) had left (D) was leaving
35.He fights and runs away, lives to fight another day. (Pick out the correct Connector
to fill up the gap)
(A) that (B) when (C) who (D) whom

36. Match the Words given under Column-I with the Meanings given under Column-IL
SI.No. Column-I Column-II

1. Indispensable i. contrary to principle but useful for specific situation
2. Expedient ii. done mechanically without care and interest

3. Perfunctory iii. something that cannot be avoided

4. Scrupulous iv. careful of not doing anything wrong or immoral

(A) 1-iii, 2, 3-ii, 4-iv  (B) 1-ii , 2-iv, 3-iii, 41 (C) 1, 2-iid, 3-iv, 4-ii (D) 1-iv, 2-ii, 3-i, 4-ii

37. The thief jumped the compound wall.
(A) on (B) over (C) above (D) against

38. What would I not give to see you happy! (Change the sentence into a statement)
(A) He assured that he would not withhold but give everything to see me happy.
(B) He exclaimed that he would give everything to see him happy.
(C) He wondered that he would give everything to see me happy.
(D) He declares that he gives everything to see them happy.

39. He said to me, ‘Wait until I come’. (Change the sentence into indirect speech)
(A) He asks me to wait until he came. (B) He told me to wait until I came.
(C) He ordered me to wait until he came. (D) He asked me to wait until I had come.

40. Find out the correct one of the sentences given below.
(A) He is suffering from a fever since three days.
(B) He has been suffering from fever for the last three days.
(C) He has suffered from a fever from last three days.
(D) He was suffering from fever for the last three days.
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Instructions: Read the following passage carefully and pick out the most appropriate one of the four
answers provided as A, B, C & D to the questions from Serial No.41 to 50 given below. H

PASSAGE: It was a man who lived before the time of Christopher Columbus, who was the world’s first
great traveller. His name was Marco Polo. With his father and his uncle, he travelled from Italy to China,
crossing mountains and deserts to get there. In China, a king called Kublai Khan was pleased to see the
Polos and had them live near him. They stayed for twenty three years. Kublai Khan sent Marco to other
countries to do business for him. When Marco finally returned to Italy, he wrote all about his adventures in
a book which was read by Columbus and many other people who also became interested in travelling to
unknown countries.

41. We know from the story that after he returned to Italy-
(A) Marco set out for a new adventure to other countries of the Far East.
(B) Marco brought out a book on his great adventures inspiring new voyages.
(C) Kublai Khan knew that Marco had crossed mountains and deserts.
(D) Marco stayed in Italy for twenty-three years

42. Who was the world’s 1% great traveller?
(A) Christopher Columbus (B) Marco Polo
(C) Kublai Khan (D) Father of Marco Polo

43. The reason that Marco Polo is called great is that-
(A) He achieved fame thanks to his good reasoning.
(B) He travelled very far to reach China, a new world.
(C) He wrote about his adventures in a book which many people read.
(D) He crossed mountains and deserts to reach China.

44. Which of the following verbs has not been used in the fourth sentence as Finite Verb?

(A) pleased (B) had (C) live (D) none of these
45. Which of the following verbs has been used in the third sentence as a Finite Verb?

(A) travelled (B) crossing (C) get (D) none of these
48. Where did Marco Polo stay for 23 years?

(A) Italy (B) China

(C) Other Countries (D) Unknown Countries
47. How many Simple Sentences are there in the passage?

(A) two (B) three (C) four (D) five
48. This passage is mainly about............ ?

(A) Marco Polo and Kublai Khan (B) the way Columbus affected Polo

(C) the world’s first great traveller (D) why Polo went to the Far East

49. Identify the type of Sub-ordinate Clause used in the underlined part of the last sentence of the passage.
(A) Adverb Clause (B) Adjective Clause (C) Noun Clause (D) Principal Clause

50. Identify the type of Infinite Phrase used in the underlined part of the third sentence of the passage.
(A) Adverb Phrase (B) Adjective Phrase (C) Noun Phrase (D) Principal Phrase
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R6RAIRRT: B¢ AYE APERRTY UQ ALRIEQ ARG IQ° O 96R GRS 9§ A°HI 51 Q@ 60 Q
QUYS 20 749 [0 |

60loFIgR ALBem 63T G2l ALA6Q | AITER 6QHIELM AT @68Ial AL | @Ad 669
3 00Q 629 | F6SIAN A2, §F, TG GG NEQ 2 ALAR 6RIAG 77 K262 | ¢ 96< 671 QAT
JR GRg QY 69a AIRE | g 9881 AIG O] ATNER 60 | @3 ¢ 9@ 29QIQ 6Td @
QIR 661l AR TG 26T 936 | A2Q6A FIRLIES TR 64 69lerg® 2ARE | @R 69RO
QFIA 6526 6Q0I6Q JAl A2Q 99 6ARAR | AZQ Y Y 6RIP 2 TR IITER |
6QCIER ACED AGEAMR F6M AIRIFY, @8 @2 | 2I6A Qe OIg @8 FaIg Qg 62IR 93¢ |

9% @26m, € @27 | Y2 @R 62 QAR AYIG FIFAR | 6A0I6Q FHIYRl CRINE OQ V64
QRT6M — 62, ALIFY, 2AG ALY U6AV 2A8E ? YOG ARAQ AQ TGN EAIR QUG 2B |

9 @36R - o9l A% | @9 ¢ diel AT ¥ A2ag 23T 64 ¢ AIF | IR AAAER 62061
A2BIRI 6816 FAT IQ° QAR — §F 671 TR ARG 6LAINI | ¢ GOR AAE 661 WG A
@082 | @g ¢ FI&AM 69 A 691 AT AAVI D6 ?

62016 gQl 6RIR 23 Q06M | F64 AEM — QIR @ F'E AT ?

9 @26m — 64 O] FIGYAI | 969 0If Adalg Gug | B2 629 6QIa 22 - ¢ ISR 214
661l QIS 26081 @568 | RIQd ¢ 2ITdeT RIT 6260 AT 26UV FAE | 661 QUL 69T 696R SR
Q¥ ¢ 626R0IQ 2IAE 6QYAG G AT FAQlg UAV @ ATYM | 6711 AUV 6QRIFI Q4
QUQ 2@ 62RIA | 634 ¢ FITAM AAG 691 AT AAV FA6R |

98 @T6R, B2, 9671 0r QBAIRE | 6976 @Al &9l MR AIN] AIE ae8Ql QRIq, 630G
9Fl AIgiea ¢ 28Q! @ARIR, 6]IR ¢ 1 A2Qq 2R | ¢ 6aeR I8 MIT 1 AL 2ITT | 6816 T2
2YQ 6aR 9Ll & HIAGH! |

51 pI96paT6a 29GR4I RALIRY J9 AIVIGTQ AT @ & ?
(A) AAFERQ K6 H6SIQ ARG AGRIFIA 69Q! |
(B) AFIFQ A1 Q4 6RIaT AAIR AR JRIF @RQ! |
(C) UBBAAG6Q GIF2RI 6RIPE AN 998g9R a28al |
(D) 6816 T2TAR AAIFQ ARIAAIRG 2ALMAR! 62! |

52. 920 @641 F9@ AR 69167 QaG 26TV AARIQ FEMI?
(A) 69 GR6Q AIFRRERI QI AR HILY 62RAIRSYR |
(B) 3RQ 6TARI6R FI6R G 629 62N A6V KAQ &R |
(C) 01a 9F QUAQ 99F 6QYIG G §aAlg 62 AV FQAZYM |
(D) 641661 98 64 950 AR VAR IL° GIF AT GRIF ARG SILYR! |

53. 325 QRIgReq O28QI06a Q¢ 62IRYQI 6RIACIER AR 23 Q06 ?
(A) BT GRC6Q ARIARER A2ERIQ 6MIRAIER 2T Q06 |
(B) “q] FITYM 64 2IAG 661l AT LAV FAER"- IR RS 8g *LIQ |
(€) ‘QIEF, @ F'E ATAUGT?"- IR ANLRQ F68 FEAIQ, AN6L 2T6M |
(D) 6816 AT gaw A6 QI ARY Q2IQIEI 6291Q A6 2T6M |
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54. ¢, Q@) 2ITE RIIG AV KA8E ? 1D QIRITER 6RRG YA U7
A @B © @D

55. geqsq 91a2Ice QUSRI 6d 6alerga 2Ided I- 12l 694 9RIa QIR 54a @ |
(A) AoR (B) 601519 (C) ¥oR (D) 69163G g6%

56. QRAA JHICAINAIEE AR QRG @8 REAIg FITR AGEAIX FER ?
(A) F12I9) 98 621G A29Q 2T 029! AR IFIN 67RYEM |
(B) 6271169 QISOIQ 48QIg @g ANK UQ ACAV Q8 AZY6M |
(C) A2QQ FISHAIRY AAY 6RIP AL SFIF AREQ AAAS 6M |
(D) 9718 6RIR BIF YIRIQ QUGELIR ALYRIEER 9T QAR AUBIG, Q12 QE2ER |

57. Geqial @aRI, ‘98, A8 FEC QI6S 2 I2AA ARG A8 926" |- I eBFQ A6l A6
ARQRR @9 |
(A) R65IQ1 QBRI 69 98 GEG QI6S 2T AL 6RIGG 7T *F6R |
(B) R64IQ1 @ERI 64 §F, AITS FELO BI6R 2IFl ATAQ ARG @8 @L6Q |
(C) R68IQ1 EG Q2RI 2T FAS AER 6AAIRE A2 6RIRG &8 *26< |
(D) RSN 9BG K2R 64 FAS NER 62 O ALAA CAIRG T8 A26Q |

58. Qeaq ERIRTIRE ZGEal A6] FIRR ARIF §F @2QIg 2AA AARYEM ?

(A) A29Q FEHAINY AN AP AAIARY 2UTIG 62 26V FRLYER |
(B) A20q T8I QIFI6R 629 62102ja ATY 64 26T FRAER |

(C) S2TQ 296al AAIRARIG A2 §F @FCI QR AQ & A6 |
(D) F64Ia1 B2F GF QIAIF AR ARNILRG 2D @ gl |

59 sgI6 Q2 2IgQ 699 gLl @ JAABAI I- 9T QIRYQ 6ASITS SRTER 600 303 QU990 62Ia8 Ada

@ |
(A) §o191 (B) 9gell (C) QEeN (D) 91

60. B6qI@ QIRYER 6ASITE 69Q 85 ATRIA Q6% 099 !4 |
d Qom, 298 67 MIE AV K93 |
A ® © O

61. 601D QIRUAIRT FRIQ & QNG 526 @ |
(A) ZIFRIR 9624e TRAINEA IO ARI6R 2L FIT |
(B) 2IGLIR g664e AnIa AI0 ARI6 2ige AIF |
(©) 2GR 64163 TRIAIREA CI0 ARI6R 2Ige Q1T |
(D) 2IERIR 66163 TRIQ A0 ALIER AIFE QI |
62. QRR0IA QIdiaem, AIP @ JeR G6R | - IE AIRIER 69¥IEE 6aQ 96 2qaIdel @2 ?
(A) (B) © O
63. S6gle 9% 6UIGFIRG FIQ 6896 ARIFIRE ATS 671R 622 QIZ 596 @Q |
(A) ZI6RITE — 8d8  (B) @021 - @02de  (C) F6Ia — GemIes! (D) 98 - 97
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64 626015 BRI AIAUFIRG 65@ 691G 4R FIAUTR FOF FAARAE 1(NLIQ A0R AT AVIIQ 596 F0F)

(A) Mandal jail has been built above some district jails.

(B) A district jail has formed with some mandal jails.

(C) A Circle jail has been constituted with some district jails.
(D) Circle of jail have constructed for some district jails.

65. qelrine QNEICeRE IR g6SUe FRIGA a1 6ASIN BRI RIAIFIA 28 | (Y218 A0R AR AUTISA LT

0g)

(A) A jail is there in all district to keep the jailors.

(B) There is a prison in every district to preserve the jailors.

(C) Every district has a district jail for the upkeep of the prisoners.
(D) All districts have district jails for maintenance of the prisoners.

66. 5 RO 98 IR FUIQ 6296 99 AAIAR RLALAE G6L 56 /9 |
(A) qaI&e (B) AR (C) @99a (D) @G
67.69R 99Idea Ja0IRRI Qe AeRIaw e FRITE RUEA 18 AT | (V2R A0Q AN VIFISA 92 Kag)

(A) Jail administration is vested with Home Department.
(B) Management of the jail administration vested with Home Department.
(C) The management of jail administration is vested with the Home Department of Government.

(D) The charge of jail administration lies with the Home Department of Government.
68. G6)Ie ARIERATNRT FRIQ 6RAGER g6 A28 Ada aQ |

(A) @ + 2J1Q = RIS (B) 9Q + &1 = AqIal
(C) Q% + 219 = AV (D) Q8 + 08I = @&l
69. QRIS PRE9 AAARIIFINE ARGFIFA AVSI69T8 AR FLR FIATIRER AHILAIRAN | (¥2IQ A0S A°AIR1
QUVIBQ L6 F9P)

(A) Generally, serious offenders are kept in the circle jails for better upkeep.
(B) Hardened criminals are kept in circle jails for better maintenance.
(C) Persons with serious crime are always housed in mandal jails.

(D) Casual criminals are normally kept in the circle jails.
70. 334160 @6, (1R, ANYR, CRIAIYS 1Q° SIZIF GRISA 631G EASIN 9R QAR AER | (2R

Q09 eIl AUISISA 596 K9F)

(A) A mandal jail exists in Cuttack, Mayurbhanj, Sambalpur, Korpaut and Ganjam districts of
Odisha.

(B) There is one Circle jail each of Cuttack, Mayurbhanj, Sambalpur, Korpaut and Ganjam
districts of Odisha.

(C) A mandal jail is there in Cuttack, Mayurbhanj, Sambalpur, Korpaut and Ganjam districts of
Odisha.

(D) There was a jail circle in Cuttack, Mayurbhanj, Sambalpur, Korpaut and Ganjam districts of
Odisha.

Section - D : Mathematics & Reasoning : 30 Marks

71. Find the value of a’+b*+c3-3abc when a= 225, b = 226, ¢ = 227.
QG a =225, b =226, c = 227, 6069, a*+b*+c*-3abc @ Y fda @ |
(A) 2304 (B) 2430 (C)2034 (D) 2340



72.

73.

74.

75.

76.

77.

78.

79.
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An alphabet series is given with one alphabet is missing. Choose the correct alternative that will
continue the same pattern and replace the question mark in the given series A, E, J,P, W, 2.
9@ Q€AIRI GA6R 6TITN 289 QRS AIF | A0e Gee 29T Hda ¢a AITIG 62T AQ IR YR & A,
E, ], P, W, ? 92 769 8Ql g4RIoa 929 goeenr @aaiae |

A)Q ®)C (®)2 D) G
The sum of the digits of a two digit number is 12. If the digits are reversed, the number is
decreased by 18. Find out the number.
4@ 9Q 27 G98 QIR AeFiee O] 12 | 99 A AT AR JGRQR @A, QNG 18 ALK | 6069
QAHIT 6R6S7

(A)75 (B)93 (C) 84 (D) 57
Rs.1200 amounts to Rs.1632 in 4 years at a certain rate of interest. If the rate of interest is
increased by 1%, it would amount to how much?
6RI8d AGR QU 2196Q 1200 F1 4 QF6R 1632 9F1 24 | 98 PIA 2R 1% 98/ QQUAIN, A8 O @60
oFIq QF 6297

(A)Rs.1635 (B) Rs.1644 (C)Rs.1670 (D) Rs.1680

Out of the five figures given below find out the one which mismatches with the others?
A gea AIES SeAIeE A 6UR T8F Y GIEAIT SErInE ATC AUCAR 6298 GIgl 596 @A |

-1 OO | | e | S

[ [ | | o | o | e

1 2 3 4 5
(A)2 (B) 4 ©)5 (D)3
Find out the Square root of 105 64—4.
105—-Q Qo fda qq |
(A)15+ (B) 15% (©) 105 (D)GE
A candidate scoring 25% in an examination fails by 30 marks and another candidate who scores

50% marks gets 20 marks more than the minimum required to pass. Find out the minimum
percentage of mark required to pass the examination.

6OIE QQITIER 968 g 25% e QY 30 IS AR 6TR C2AI NG° AR §68 50% QY ASRE AIA AIKOIQ
20 CI8 2R QYR | 6569 AIA FAGI A ATHE 6269 GFS AR 2RI Fda eall

(A) 20% (B) 80% (C) 40% (D) 50%
Two numbers are respectively 20% and 50% more than a third number. What percentage is the
first of the Second number?
QAT Q°§Yl, 6AIT §O1A A°FIQ FRAFER 20 % 99° 50% 2@ | 6361 YA AT o1 A°SHIQ 6Q63
Joae 62Q?

(A) 60% (B) 70% (C) 80% (D) 90%
A reduction of 20% on the price of mangoes enables a person to purchase 12 more for Rs.15.
What was the price of 16 mangoes before the reduction of price?

2lic] @9 20% QYA C2RITIA K68 S4B 15 TR AR 12 § 2] FaQIg ARE g9 | 9Q 2IA62A 9IQ 16 §
2R R @&l gl ?
(A)Rs.5 (B)Rs.6 (C)Rs. 7 (D)Rs.9
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82 The LCM of two numbers is 39780 and their ratio is 13:15 .Then what are the two numbers?
QaG A°HWIQ RAIG 39780 99° AAIRTR AQAIS 13 : 15, 6669 69T A&l QPG 6960 ?
(A) 2652, 3060 (B) 273,315 (C) 585, 675 (D) 2562, 6030

81. In a mixture of 60 litres, the ratio of milk and water is 2 : 1. If the ratio of milk and water is
required to be 1 : 2, what amount of water has to be further added to the mixture?
@ 60 TR Fgd6a F1Q B FRA AFAIG 2 : 1 | 1A 8 90x AGAIS 1 : 2 @RI AR 6060 ARSI 87
AeIRQlg 629 ?

(A) 42 litre (B) 56 litre (C) 60 Litres (D) 77 litres

82. A, B and C start a business, each investing Rs.20000. After 5 months A withdraws Rs.5000, B
withdraws Rs.4000, and C invested Rs.6000 more. If at the end of the year a total profit of
Rs.69900 was recorded, what is the share of B?
A, B 6 C 96246 20000 o 6R6&iIN @R6QIS @7 6aIGN QIQQIR 2Ia% @9Z | 5 AIATER, A, 5000 91, B,
4000 6% JRUIZIA SREREM 9&° C, 6000 O 2R IF6AIT @Rl | 98 @ 66196Q 641G 69900 TF AR 4,

626R, B Q Q9 6066 69Q7?
(A) Rs.20500 (B) Rs.21200 (C) Rs.27300 (D) Rs.28200

83.If a sum of money at compound interest amounts to its thrice in 3 years, in how many years will it
be 9 times of itself?
A% 67163 PG 9998 QUER O BRGE 9, 6061 @60 AT6R G121 O'A 9 Y8 6297

(A) 12 years (B) 6 years (C) 9 years (D) 15 years

84.1f x +y = 1, what is the value of x> + y° + 3xy?
QA x+y=1,6069, x*+y’+3xy Q R4 6@65?
(A)-2 B)1 ©)2 D)3
85. A certain sum of money at simple interest amounts to Rs.1260 in 2 years and to Rs.1350 in 5

years. What is the rate percentage of interest per annum?
6xleId AR AR RILIAER 2 QF6Q 1260 9! ¥9e° 5 @86 1350 G g9 | 606@ Qs QPIA LA VNG

e@6e ?
(A)2.5% (B) 3.75% (C) 5% (D) 7.5%
86. The profit earned by selling an article for Rs.832 is equal to the loss incurred when the same
article is sold for Rs.448. What should be the sale price of the article for making 50% profit?
6F16T 9ZQ 448 SFIER QREM UL AG 94, GI'g 832 TFIER AR 6ACR MW I | 6569, 50% MW

dIaQlg @' Q0 fImY 696C QGQIq 699 ?
(A) Rs.960 (B) Rs.1060 (C) Rs.1200 (D) Rs.920
87. Find out the greatest number of three digits which when divided by 3, 4 and 5 leaves no remainder.
R Aw 5Y QLA QT Fda @R, QILIg 3,4 65 YA LUANEM 6@193 QUACAT Q@Q QI |
(A) 960 (B) 860 (C) 690 (D) 680
88. The average age of A & B is 20 years. If C were to replace A, the average would be 19 years and
if C were to replace B, the average would be 21 years. Then what are the ages of A, B and C?
AGB & 2210 994 20 @ | 98 C, A Q@QREQ QL 641w QIR 294 19 @8 9G° UG C, B Q QQa6Q
Q62, 6QARIRE LAULA A 21 Qg g9 | 6069 A, B 8 C @ Q@0 6@66?
(A)22, 18,20 (B) 18, 22,20 (©)22,20,18 (D) 18, 20, 22



89.

90.

91.

92.

93.

94.

95.

96.

97.
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The average age of the three boys is 15 years. Their ages are in the ratio 3:5:7. Then what is the
age of the oldest boy? -
T6RIT QIRes ALR A 15 Q¥ | 6QAAINE QUAR AGAIS 3:5: 7 | 606Q AQQ QU QARRQ @Al
6@6e ?

(A) 7 years (B) 14 years (C) 20 years (D) 21 years
Exactly one number is wrong in the series 3, 9, 21, 45, 93, 191, 381. Find out the wrong one.
3,9,21, 45,93, 191, 381- 92 G760 6QITN A°3lH @R 28 | 63T @A AT 69RG?

(A)3 (B) 21 (C) 93 (D) 191
How many meaningful English words can be formed with the Letters-ATME?
ATME — 2 2906185 Q492Ia @ 626015 2294 @ aIs1 49 casliaia AIRQ?

(A) 1 (B)2 (€)3 (D) 4
The difference between the compound interest and the simple interest on a certain sum of money
at 8% per annum for 2 years is Rs.4. Find out the sum.
QiR 8% 2106Q 2 @F6a 6AEA RIAA 9FYF Qo B AAR G FIER Al 4 TFI | AR ARAIE Fda
@ |

(A) Rs.625 (B) Rs. 1260 (C)Rs.312.5 (D) 6916135 g6%

In a certain code BOND is written as 9035 and DAZE is written as 5@72. How is ZONE written
in that code?
6@163 ACTER QIR BOND @ 9035 49° DAZE  5@72 K6 SRSl | 69T QAI6wE@ QIFI6Q ZONE
Q @AR ERGIKIRAIRS ?

(A) 2073 (B) 7023 (C) 7032 (D) @732
A sum of money is to be divided among A, B & C in the ratio 2 : 3 : 7. If the total share of A & B
together is Rs.1500 less than that of C, what is A’s share in it?
FEOFTIQ A, BB C AERA 2 : 3 7 AGASER Q46 @QQlq 629 | 4T A 8 B @ @lel &8 C @ ®IF0IQ 1500
Ol @] 99, 6669 A Q VUG 6X6S ?

(A) Rs.1000 (B) Rs.1500 (C) Rs.2000 (D) Rs.2500
Raghu jogged 2 KMs southwards, then he turned right and walked and jogged 8 KMs. In which
direction was he seen moving last?
Qg @84 §ag 2 39 6A1GR, Grasa 6d PILIG T6 ARLER A &° § @ 6TITRI | CATER R F6R 61
QR 6QslIomI |

(A) West (B) North (C) South (D) East

Triangle represents School Teachers. Square represents married persons. Circle represents
persons living in Joint families. So, what represents the married persons living in joint families
but not working as school teachers?

36 998 5960 59E YR F8RG 9OFQ A6A. | 9T68E ARG QYT JORYRQ @6 | 9RTE IRIRQE
JRRIRER AFYR! BT YOI | 6569 IRIRLRT AARIAER 0gYS @3 YM TR 62Ia @ Y IAUTS YT @4
gotyQ @Qag?

B

(A)F (B) A 2]

©C (D)D A

The cost price of an article is 64% of the marked price. What will be the percentage of profit after
allowing a discount of 12% on the marked price?

691N FRTR G MY RYS AMIA 64% | AYS AU AR 12% AL 6QAITER FFRC NI 6RES 6297
(A)37.5% (B) 48% (C) 50.5% (D) 52%
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22 X is the sister of Y. Y is the brother of Z. Z is the husband of P. O is the father of Y. How P is
related to O?
Y Q@edl X2A6e1Y,ZQRa a6 PQIM 6228 Z | 0, Y QQldl | 0 Q@GP QQfe @ &2
(A) Sister (B) Daughter-in-law  (C) Daughter (D) Uncle
99. Identify the correct one of the Answer Figures from which the pieces given in the Question

Figure have been cut?
gea 209 Derew FIQ 694 999 94 5967 AIRG 58 HEAIR fUIKIREE el Ada /9 |

Question Figure Answer Figures
. A B C D
(A)F (B) A ©)C (D)D
100. Good Conductor : Copper : : Bad Conductor: ?

(Select the appropriate word from the alternatives given below to fill up the 2ap/R6Q)IB 4R ARG
ARIQ 690G §54 ARG gad @RAIRS 599 @)
(A) Iron (B) Aluminium (C) Wood (D) Coal

KEPT INTENTIONALLY BLANK
USE FOR ROUGH WORK
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